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4-3 HW Answer Key

"= 1 i*= 1 i€ = 1
itz i°= i i’ = i
S | i°= -1 iv=-__ -1
i¢ = =i 7= i =

1 6. -1

2.1 7. -5

3. -i 8.1

4.1 9. -9

B.i 10. -2i

11, 11+ 14i 12. -1

13. x=8,y=3 14, x=-3,y=-b

15. x = +6i 16, x = +2i

17. 1212

18. See attached for graph.
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Simplify the following:
32 0 s
Li®:=( ¢ L =L

ST A
2 5. L =L

SV S 3
NP A
4 %= I

¥ -3

o )

Express each of the following in a + bi form.

1L(8+9)+@3+5)= )| + | i

Find the real values of x and vy.
13. 3x + byi= 24 + 18i 14. 5(x - 1)+ 3yi=-15i-20
oy by=I8 XS ":-'-gw 2y=-I&
%= B y=3 o= J Yz -5
X3
Solve for x and put your answer in a + bi form,
15, 2x*+72=0 16. 4x23&16:u
P =<1 A == o
=30 <-4

Mo -2
6. ilE: !, 'L I e }
el E:j Y= 5("/) )

8. (°)i") = (:’!g -/
5.4t 50 = ) ~€(f) = -4 Gz
o2 AU T 00 1) = ok

{l

12.(7 + 2i) + (3 - 5i) - (11 - 3i) =
1O =3\ — 14 3L
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Simplify,

e vaman

17. J24423 = (,J;;'}:;, N3
—auT7a -
=23 Vs = Hi/a

Graph and label the corresponding points on the complex plane.

a -3 .

b. 4+6i H

c -5 __fzi:.b_, .
d. -1-i SRESE BERNR SN
e. 0+10i ,Y\ -b
f. 7-0i SRR BENEER RN
g. 2-4i SRR NREEESHN 4N

h. -8 + 6i '.c"i-: _)<
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Complex numbers as solutions to equations Algebra 2 Unit 4 Day 4

Today, we are going To use the quadratic formula to solve quadratic equations.
Recall the quadratic formula:

The discriminant is the number under the radical or

Working with your partner, determine the discriminant and then solve the following quadratic equations

using the quadratic formula.

o e 34000 bRuacs 0-40X9
=0 =-3
%= 65 X= 0% o
3.(!) aa
K3 =20l - t3i

How does the value of the discriminant relate to the solutions you found?
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Complex numbers as solutions to equations Algebra 2 Unit 4 Day 4

Today, we are going to use the quadratic formula to solve quadratic equations.

":b 4+ ,s b2*-Ya
X \_/
The discriminant is the number under the radical or b — 14 Q

Recall the quadratic formula:

Working with your partner, determine the discriminant and then solve the following quadratic equations

using the quadratic formula.
=\ b=° 9’q
1><—9 0 2.x°-6x+9:=0 3. x5+9:=0

ba_u\ag-o ~HOC) b’-lkl(- 3(,-4(:)(4) b qac--_()_-;t‘fl)(")
ow"“ X= ‘o"‘J‘ = 0|
*= a(;‘o HE at) X 0-:;(:-%

-+ S L _
= = 3 =3 = "'(ﬂ. t3t
How does ‘rhe value of the dlscr'lmman‘rr'ela‘r 0 ‘rhesolu‘rmnsyou found?
M e 4O [the se&:évo [ came-@-/z)

O b Yae =0, we wtl howe Real 250290 (3 oauad )
35@9%<>0 Yhe Asliton wtll b A Peal pplitstho -~
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Using your graphing calculator, sketch a graph of each of the quadratic equations from above.

1. x*-9=0 2Z.x-6x+9=0 3. x2+9 =0

ps S R

X = X > x

Conclusions: l ( i .
@lhen the graph intersects x-axis only once, then there is Qaa,é Aﬁ'é‘wﬂ\q
a

nd the discriminantis 26O

When the graph intersects x—axls’rwlcefhen’r ere are & QQQ.O Q—Q’&E&IMG

and the discriminant i ls

When the graph does not intersects x-axis, then there are Q-U“\NPM ( VWUUY ) 205(0
and the discriminant is _/I\QS_M ((O




Day 4.notebook October 30, 2018

For 1- 7 do the following:

1. Compute the value of the discriminant of the quadratic equation.

2. Use the value of the discriminant to predict the number and type of solutions.
3. Find all real and complex solutions.

0. +bl Yorm
Do first one together:

1 3x+xi=7 = X2+ =0

W Yac = Q-4 =9-28=-19  C Sduitso
X__—3'—"m _-3fdw -3 4 g
- alny T Q. 2 T o
e+ ol

Work on the following individually, checking your answers with your partner as you complete each one.
2. x*+4=0

b lace O-4ey)  X=0rlh
= -lp a(u)
2. Compley. §ivHons T2
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3. x*+2x+1=0

b-tac= lg-ll(l)(l) = -_____a;')o

| rea\ spwhion Y

4, 3xf+4x+2=0

b>uac= w-gwcsx» X=—4* J§
2 (omplex QWtions = 4t i{y4Ja
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5, x=2x°+5

AY’-%+5 =0
b Uac= |-4(3)XS)
= - 39
A Compley. Solhns

6. Ox*-4x - 14 =

b= 4ac= lo- L\(q}(-w)
= 5aD

o real Swwhons

October 30, 2018
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7. 8x%+4x +32 = 0 (Note: Easier if you factor first)

m
AX’+x +3=0 x= s

V- yac = | -4(X8 a)
e :.'-l,ga)() =-Ei{9/7

0
A Complex Slitions = 4+ 3T g__._i_ i
g Ty

10
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